Chapter 4

Section 4.1 — Increasing/Decreasing/Concavity/POl
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f(x)=0
f(x)>0
J(x)<0
J'(x)=0
f'(x)<0

6. f'(x)>0
7. f'(x)=0
8t )<0
9. f'(x)>0
10. f'(x)<0 and f"(x)<0

. f'(x)<0 and
. f'(x)>0 and

3. f'(x)>0 and

. fi(x)=0 and
. f'(x)=0 and

£1(x)>0
f'(x)<0
f1(x)>0
£1(x)<0
/() >0



16. f(x)=0 21. fi(x)>0 26. f'(x)<0 and f'(x)>
17. f(x)>0 22. f'(x)=0 27. f'(x)>0 and f"(x)<
18. f(x)<0 23. <0 28. f'(x)>0 and f"(x)>
19. f(x)=0 24. f(x)>0 29. f'(x)=0 and f"(x)<
20. f(x)<0 25. f'(x)<0 and f'(x)<0  30. f'(x)=0 and f'(x)>
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Increasing/Decreasing:
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First Derivative Test:
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Second Derivative Test: (\r%\?‘\ W\‘\MN\'NB
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Example: f(x)=x>-12x-5
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Example (2" Derivative Test): f(x)=x’-12x-5
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Example:  f(X)=x3+x3
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Homework/Classwork:

AP Packet: # 5-23, 26 (skip #14)



